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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Test

Local Fund Audit Department Test -
Commercial Book - keeping (Without | 064
Books)

Maximum Time: One and Half Hour Maximum Marks: 60

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QamemGM euand eleaTms e

Read the following instructions carefully before beginning to answer the
questions.

allemés@sg ellmiwelsesd QST RGL (WY SD&a6ETL Sifle|mysamend
SEUSHTLOM&L Uy &&HeyLh.

1.

This computer based Test contains 60 number of questions in objective Type.
Anss safef cufis Cojeunangl, 60 QETNGH umsUNUNT eNaTTHGHmeTES
Q& meimL_ 8.

. Answer all questions. Each question carries one mark

SHE aTESESHGL el Weldsayb peuCleur(y edlenmeyld sp(m
WHIQLICTT 2 ML WIg).

In case of doubt, English version is the Final.
Namssefled #hCaah Quiler g augelied QAar@ss0uL Heren
NearsECen @miSuirens).

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qs ellemésefico @b Quibmieter gy LTeNeTshgeuflsll uMTSen s Hened
Comaullge, SHPNSCHHU  Quesr TSl Seuflsh UGS HEHLD
SiLMIGLD.

Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

elamsmiugmyiseT Safell aufis CuiNHE oL wefébss QFTRIGLD
Wetr  SewNellulledt  Aewpuiled  CHTHMD  NQDTEET  SHEUSTLOTSL
Ul S&6LD.

a) One question will be displayed on the screen at a time.

@0y Crrsdled @ el LLECL saflals Hapulcs Camemd.



Match the following :

QUFBSSHIS :
(a) Proprietor investment 1. Proprietor
o flenwwirerflen (pselH o flenwwirerit
(b) Written document 2.  Liabilities
GTIPSH| <, EUGRTLD Qump iy ser
(¢) Financial Obligation 3.  Voucher
B flened sLanw Frenmi&SL (b
(d) Owner of a Business 4. Capital
cuesilsgdlen Cerbsssnyt ELP QO EHTLD
(a) (b) © (d)
A 1 2 3 4
4 3 2 1
(C) 3 4 2 1
D) 4 3 1 2

Which is not Correct?
TS Seum?

(A)

(B)

D)

Account 1s a Summary of relevant business transaction at one place relating
to a person, assets, expense or revenue, etc.,

e Gamflé =ideg eSlwurumy ewillda Hlawb Geudur@sd GMOGIL em
pul,  Qersg, Gewey oeg eumwrand Gureameassidar Quursaer
SMOULSTTES CETERTL cUanT& BL_6Uly S &HWTELD.

Receipt is an acknowledgement for cash received

LbmES @ ererug yrésh GubnshE e wrerons OsrHEsssmiqLgTEL0.
Invoice is a business document which is prepared when one can buy goods
from another

spsens aumma@gbGurg  amki@gueT g Sfidmss e  suridurs.
SeueuflEanad 11 #16@ efeurb LHHID GFreasau 2 der . &dwugnEb.
Voucher is a written document in support of a transactions

GH BLeUgE@EEH@E USTIOTE HELUWD aT(PSH egellarar oD ETamms
F_[{ ereriuhdmgy.
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3. is the amount of cash or value of goods withdrawn from the business

by the proprietor for his personal use.

2 fMepwwrent et Qerps 2 LCWNESHNG Qrrssd wHnD Frsdanar a@Hsg s

Qarereug) upd GHLGGE DS

(A) Assets
Cerggiaar

Drawings
Tl &eT

(B) Liabilities
Cummliy&ar

(D) Capital
pPEGETLD

4. Which of the following is an example for intangible Assets?
ECp Gasrhissiul_Reateraupmer Yoerrars Qersdh@ ahissssTL @ ereneu ?

(A) Cashin hand
Qyrées enaullgpliy

(C) Bills receivable
Qumsp@ilu wrHoEs G

(B) Bank balance
eumaldludl(mLiLy

Patents
gastiyfenwo

5. Business transactions may be classified in to

cuarfls BLeuigSenaaseilenn cuensLTH

(A) Three
gpesT)

g o

6. Prepaid expenses is

engal ly QegsHu Gewaarmiger ‘

M Asset

ClFrsg saer
(C) AnIncome

G (LD MBI i 6T

008/DM/24

(B) Four
B,
(D) Five
8hal

DG,
(B) Liability
Qurpliser
(D) Loss
Gpuy



Which of the following is not basic concept of accounting frame work?
Epaupeuaneunmier ergl samddluic) SLebUG0 SHSSSSAID S RsTSS ?

(A) Dual aspect concept
@ e Sseanld &(HS5)

(B) Matching concept
QUTmHBSME SHES

arty Disclosure concept

@S QeuelJi_[é &mEs

(D) Revenue realization concept
sumeumil Srey s(mES)

Depreciation is deducted from the concerned
Csuwioramnd @GHMoErL s 05518 ari L Geuar(Hibd

10.

{A) Current Asset
BLULE Qersg)

(C) Fixed Liability
Blepawimanr GummiiLy

B Fixed Asset

Blenewiren Gensg)

(D) Current Liability
BLUL Gurmiciy

Which principle implies anticipate “no profit and provide for all possible losses” 1s?
&Gy QerRésuuc Hetareuppear a&banarasurang “‘@eorusms aiCrraaTts, armed
Smandg TS TUTTIEGD b L hsEhEE @85ide tawus”.

\W Prudence

werensafsans

(C) Cost Benefit
SiLsaallened LwieTum(p)

Ledger is book of
CuGrH @

(A) Original entry
Carppd> Ufal @6

(C) All cash transaction
Qrrés pLeugsamaseT e[

(B) Consistency
Cgr_rsflwrer wiyy

(D) Matenality
D GTEnD 2 NI gHed

Aal entry

oy udley g@

(D) All cashless transaction
vemrifléveor Lfleusgenar e
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11. Accounting Standard Board has constituted in
sSS WD STEGIp Hoieuiut L et
(A) 1972 (B) 1975
1977 (D) 1987

12. Business concern must prepare financial statements atleast once in a year is based
on assumption.
aaflls fpeasdar Hblea SMsmssdr Gonbsd @b (THES SLUTHLLE THS
S@IOTATEMFE FTTHSH ?

(A) Accounting Entity (B) Money measurement
semsdlud seaflsgemenin vewt g SE 6
Accounting period (D) Going concern
sEEWLO STLD Bimeuens Qgmoiss

13. Goods returned by customers are recorded 1n
aumgsenswmert SmuGu 16 Ldey QeLWGLGHS

(A) Sales book
abuenen e
( Sales return book
Apuenar SlpLiu gh
(C) Purchases return book
Garerpged muu g@
(D) Purchase book
Qarerpse e

14. Double entry system of bookkeeping was introduced by Lucas Pacioli belongs to
@ el s sad@ udeypeperw SiflgpsiiuBsiu gsren urelGured abgs Brien &

FTiTHGeuT

(A) British merchant talian merchant
@rdflonbhg cuenilaT @ggred cuestlam

(C) Scottish merchant (D) Swiss merchant
ST QM cuentiai euelll Frembg cuenflst

008/DM/24 6



15.

16.

17.

A bank pass book is a copy of

Qe Colige pad

(A) The cash column of a customer’s cash book
UTgEDSWITETT QIrsEs gligem Grréal ugd

(B) The bank column of a customer’s cash book
QU EEWITETT GIT&E e igedr eumidll Ligs

( The Customer’s account in the bank’s ledger
cunudl CUGCHL 196 2 GTeT CUNYSEEMSWLITETT SaTHE,

(D) Debentures
sLT G LS b

Which of the following is not a feature of double entry system of book keeping?
&G GarhisatiLl paTereupmer g @Il L s sandsE Lepanue Guidy b ?
{A) Each business transaction affects two account
geuleun(h cuanfls BLalgsamsub B sems@smar LnddaEh
(B) Each transaction had two aspects (Credit, debit)
geGleum@® bLalgs&ansbd G(h saebasamen 2 aTaTL sSugTs @) meE
(C) Preparation of final account with the help of trial balance
uumieier o gelflwird @mds sems@ae sumilEsiuGdng
It is based upon going concern assumption concepts and principles
samsswellenr Hmeuars Ggsriisdl sigorand &GEHEsET WwHmD Qsrdeassailer
Sfgliue e epwhgieTerg

Which of the following approach is called British approach?
&Cp Gsr@asiul @etereupmer  ereucuagmEeon GOl  iguEepen e
Sieowsstubh me) ?

(A) Accounting Equation approach
SEMEEWD FWTU (B DISWIGPeD

(B) Accounting period approach
FEMEEID ST GG ALPDD

( Traditional approach
urybuflu siem @epann

(D) Historical approach
HTTSen S emi@G(Lpenn
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18.  Which of the following is not an example of artificial personal accounts?
Qi QarGissul Hararaunmia argl &L PN MWL SRUHE HOR) ?
(A) Indian Overseas bank account
@pdwen qairfen eunidl s
(B) LIC of account
ErHw e sTIS_HEFDE SaEE,

(C) Cosmopolitan club account
MTFLsEs sansE

ﬂ( Kumars account

@wri ererUeufler seamss

19. Matching :

CumESEIE :
(a) Representative Personal account 1. H.M.T Ltd
QB sgien saflpLm Sarss GTéF.eTD. 1. edlL.,
(b) Artificial personal account 2. Murugan account
FLL(PEAND S SERES (P(HSEIT HeRTES,
(¢) Natural personal account 3. Salary Payable
SeNBLIT Hemdd, sarfluid 6uLprisGeuaig g
(a) (b) (c)
A 1 2 3
U 3 1 2
C 3 2 1
D) 1 3 2

008/DM/24 8



20).

21.

22.

Matching :

Qummsgs

(a) Tangible Accounts
Hoarm@lh QFnsg sanrdis

(b) Intangible Accounts
HeoeTam Fngg) Henréd,

(¢) Nominal accounts
QuuwiFere] HerTdS

(a) (b) (c)
Mz 3 1
(B) 2 1 3
© 1 2 3
D) 3 2 1

Which 1s Correctly Matching?
ergl eflwrs Qummbdluydrens ?

Drawings -
eT(HLIL|&eT
(P, Interest paid -
‘ anly degisdug)
(C) Bulding -
&g L LD

(D) Rent -

GUITL_e &

1. Dividend Account
UBISTSTILILD

2, Building account
HLUlgL ST

3. Trade mark account
cuantls (pEHlanTs Eentde

Personal Account

SLETETT SHTHSG,

Personal Representative account
ApfhlEsgien yerent samss
Nominal account

QuwTeTeysd Semdd

Real Account
Cenggis senTeE,

The giving aspect in a Transaction is called as
Q@ Ll sasulear Clegisssd saran amp&saLIHeug)

(A) Debit aspect
LIDHMIS S etTen 10

{C) Both debit and Credit aspect
LM HMID euTe|SS56menLo

Credit aspect
QU6 SSETTENLD

(D) Transaction aspect
ufleuiggenen semenLo

9 008/DM/24
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23.  Murugan lending Library is an example for
(PHSET GUTL D& FIVSLD TETLF eTeUaUms sl D@ 2 FTTERTDMED ?

(A) Nominal account (B) Real account
Quwineteys semTéE, Qengg semsE
Personal account (D) Natural account
DY ETEAT HETEHS, Plwdys sadd

24. A document in writing drawn upon a specified banker to pay a specified sum to the
bearer or the person named in its and payable on demand?
sasE easdnluat GHubie pumsGsr ooy GerariuamsGer Gsl @b
Qurips =ide @GN Gder Qgranslaar OQsgisgiomm @HUEACL emdwir Bg
Spenenrulhibd Uigeid

(A) Cash memo (B) Credit Note
Qrréss qureyds @bluL

(C) Payinslip Cheque
Qegggs L6 \Mm(ﬁ&nmm

25.  If the capital of a business i1s 1,00,000/- and other liabilities is 1,50,000/- total asset
of the business is
em wrumrsdéd epogard g OLFLISAWL @7 GurmLUsaT @y @l sss
gbugmuipibraeyb @QréEh Ll ssdld oibs dlwrungsdear Gwrds CFrTsg wmg ?

(A)  Rs. 50,000/- B Rs. 2,50,000/-
em. 50,000/ 5. 2,50,000/-
(C) Rs. 1,00,000/- (D) Rs. 1,50,000/-
e. 1,00,000/- . 1,50,000/-
26. In liabilities account, increases in liabihities are side and decreases is
Liabilities are side.
QumpLiLsseT samsdld QurmUuysaT Feflsss — Qemsafigid wHmID
QuImILILSET GHODHH ———— @armisaflg)b @ baugib.
(A) Credit, Credit (B) Debit, Debit
ay, aurey U@, UHml
Medit, Debit (D) Debit, Credit
eurey, LbHm upmi, ere

008/DM/24 10



279.

28.

29.

30.

When the goods are sold to a Customer on credit and the amount is not recovered
due to his insolvency is

QUM EMSUITETTEEEEG F16@ sLa Quwfle efpuamer Qaiyb Qurapg, Gpmgliyblane
srremons Geqss Guongblae ghuremb. @esurm Smwuidup Quears sLalss,

{ Bad debts (B) Bad debts recovered
QUGS 6T QUGS LGN @60l bs 8
(C)  Over drawings (D) Under drawing
Wens erliLseT GDD eTHLiLEeT

As per Reserve Bank of India revised guidelines validity of a cheque with in
@pdw evwvw eardler Hmpssiul L eflsn @ Ardlopensaflanig $HCurg e
anGeremeullen siflaul s FHRESESE STOD

MO days (B) 180 days

90 prlger 180 mm_aer
(C) 135 days (D) One year
135 prriaer (T GL(THi_LD

Head quarters of Reserve Bank of India is
Grdwu evwaradlufer SIS 6ThiE TS ?

(A) Delhi (B) Bangalore
lg- 0D QumkiseEn

y Mumbai (D) Chennai

(pbenL Csenenar

Which of the following is not correct?

G Aarhisslut_HeTaraudmeT Seunrengl eTg?

(A) Assets = Liabilities + Capital
Qerggiser = QUImLIL|EET + ppedgard

(B) Assets — Liabilities = Capital
QergglgseT — GUTMUL&ET = pPSEITLD

(C) Assets — Capital = Liabilities
QETsgaer — apagand = QurmOIL|seT
Assets + Capital = Liabilities
QenggaeT + ppagand = QUTpILILSET

11 008/DM/24
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31. Negotiable Instrument Act was passed in
LIHOIPEND eUeRTEFL D HenL (p@puRSSlIul L al(HLLb

(A) 1981 S 1881

(Cy 1971 (D) 1991

32. Credit sales are recorded 1n
sLen cipuenar udley Qeiwiufeug

( Sales book (B) Cash book
elhuenes @ Qrrés ey

(C) Sales return book (D) Purchases return book
fpuener FHEou o Qamerpge Sl e

33. The person who prepares a bill is called the
wrhy & gener swrT GEUUGT eTeueunn eppdsitHidnmT

(A) Purchaser (B) Seller
QaEreTapgenment elhuenarumenit
Drawer (D) Accountant
GT(pgiaT ST EHIT
34. Discount column appears in side of the cash book.
gemenlig UGH Qrres el gen eliusssdlad GLbGumb
(A) debit aspect (B) Credit aspect
UDMISS6rTenLD aTeySSeenLD
(Cy” Both debit and Credit aspect (D) Transaction aspect
UdHM HMD U6y SSeTenLD ufleuiggenar genanin
35. Cheque deposited and dishonoured appeared in side of the cash book.
andudd Csgsdu arGsreae euwdssiiulL g, Crrés glger erlusssid @b
Qumi
Credit (B) Debit
Qe Mloful
(C) Creditors (D) Debitors
GUITEUTETT SHeiTanLn LMDAETT Se6ien Lo

008/DM/24 12



36.

37.

38.

39.

Cheque issued and dishonoured appears in side of the cash book.
andileo Qmps udp srlstee awdssiul g Qs gliger aULSSSSE
@b Qumb

(A) Credit Mebit

ey LD
(C) Creditors (D) Debitors
QUEUTETT SETanLd LIMDTETT Setrenio

The balance of a cash book indicates
Qyrés glger Qrrsslingd @mly sri(eug)
(A) Net income

Hl&g eumLomanid

(B) Gross income
OrEs eu(HLTETD
Cash in hand
enausl(pLL

(D) Daifference creditors and debtors
sLamali&@hn sar FEGCaTmEEL et unsd

The petty cashier generally works on system.
Sdeeny srereri Gurgleurs WeTUDMID wpenm

(A) Prudence maprest

perQanssi sams pemuerd By
(C) Bad debts (D) Over draft
QUMTEEL_6HT GuédeuenTliLphm

This error arises when a mistake is committed while totaling below the amount in

the subsidiary book
glenem ghseiia o drer Qgrensuliener s (b Curgy seumsors Goneuns WwrsgdHeug

(A) Over casting M nder casting
flens Qrgshd &DE LTSEHH
(C) Posting (D) Casting
ahsg aTpgIsD Yenlp anl L@ GenLp
13 008/DM/24
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40. Which of the following items where errors are not disclosed by trial balance?
@miiumnie QaseluuGissTs Yenyp
(A) Errors of partial omission
UGSl Wenpser
(B) Errors of casting
Fnl L e GenLpaser
(C) Errors of carrying forward
gr&dl erpgise Yenpaer

( rrors of Principle

AHulenipsar

41.  Which of the following terms where errors are disclosed by Trial balance?
G muurdey Qetefliiu@dgb e

(A) Errors of complete omission

(el Genpser
(B) Errors of recording

udle Gagea Yenpser

Double entry in same account

@Gy samédléd Quuen ohs6spsD
(D) Compensatory error

seupren samadld aTRFSAS(PsH WaLpsdr

42, account is prepared to avoid the delay in the preparation of Final
accounts.
—— E&eEE SUumhliugen eapolb @nd sewsgsear swurfluughHarer sTossams
seli&s (pudmg.

‘Muspense account (B) Imprest account
SDIBTDEHS HERTEH®E, aparuemnd By
(C) Surplus account (D) Debit account

o Ul sand@ D ST

008/DM/24 14



43.  Trial balance is prepared to find out the
@muurde) swriluug:

(A) Profit
GUITLILD

(B) Loss
BLLth

(C) Financial position
HiglBlenes

(D) Arithmetical accuracy of account
sem&@aetien Filgsemann

44. Venkatesh purchases goods worth Rs. 80,000/- for the purpose of selling, this

amount will be treated as
QesrusGLay ellpuemer QFaLsugHaTs @ 80,000/— wAULETeT srams Lsrarepse CFsg

&

(A) Capital expenditure MRevenue expenditure
wpadiens Cgway aymeurullans Geaay

{C) Deferred revenue expenditure (D) Ordinary expenditure
Bearuwen eumeumuiians QFeey gngryem Ceawey

45.  Match the following :

Qurmsgs
(51) Capital receipts 1. Repairs
(PpSdI@T ure|HaT L{p& LTSS
(b) Capital Expenditure 2. Sale of goods or services
psdler CFweyser vetsrL_ruser/uasflaer ellhuenen
(¢) Revenue receipts 3. Good will
QU(HEITEI @& GUFESET BHGILIWIT
(d) Revenue Expenditure 4. Barrowed loans
au(meumys @er Cleeveyaer SLenaET curmidlig
() (b) (c) (d)
w1 3 2 1
B) 1 2 3 4
C) 4 3 1 2
@) 1 2 4 3
15 008/DM/24
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46. Which of the following expenditure is recurring in nature?

&G Qasrhssiul Herer Qeadlamseiid GgTLmb sea@w 2 amLwg

(A) Capital expenditure
(psadlen ClFae ser

Revenue Expenditure
eU(meUT @ar Claeyser

(C) Deferred revenue expenditure
Beruwerr eumaurller bewa|ser

(D) Capital and deferred over expenditure
psdar Hemuwen eumeurls Ger Gaaway

47. Amount spent on remodelling an old car is an example of

&CGp Qar@ésiul Gidrareupmet uempw &mpa Frewly Gewsiiend
Cun@srarerliuBhidng
(A) Deferred revenue expenditure
Beruwen aumeuruier GFmaiser
(B) Revenue expenditure
(reumil @er Ggeyser
Capital expenditure
wsdlar Qe ser
(D) Capital and deferred over expenditure
wpseSlen Bearuwen cumeum @an Qeway
48. Bank Reconciliation Statement is prepared by
auidl efle_ Qb Lliquied swrfloueu
(A) Bank \VCustomer of a bank
cunadl cuiidl GuMig &HEnHILITETIT
(C) Manager of a Bank (D) Share holder of a bank
eaurudl Goemerit Ui eneugdl(mrLieut

49. There are types of cash book.
Qs UssED —— awasLuBSsLIUGSDG.
4) Two Mhree
Drem(H gLpemT )
(C) Four (D) Five
BTG (S, 8HE

008/DM/24 16
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50.

51.

52.

53.

There are types of Book keeping.
sand@l LEHCa@sdr ugrofliy —————— austuSsLLGEDS.

7 2 B) 3

©

4 D) b5

An anticipated liabilities which may or may not arise in future is called
adliraumh snwsde Hapssmigu deg Hepeaunsts durmiysmer @Gollug)

(A)

Long team liabilities (B) Short team liabilities
L &ned GLmmUiL&eT @ndlw sme Qummiijser

Contingent liabilities (D) Current liabilities

flapeiarwim Qurpiliser BLLUIL QUrmili&er

Which of the following i1s not correct in trial balance is?
&G Qar@sstiul Gdrareupmier @mriumiey @dlds QurBHETSs)

(A)
(B)
©)

Is a middle stage in the preparation of accounts
semd@ Surfilibed eww Hlevwwns o drerg

It shows opening stock only

QarLir s1&@ @Lenu TR

It is a summary of all the ledger balances
CuUGTL( sens@sailen s(hESD @D

repared after preparation of trading account profit and loss account
LTy sawd@ oru bl L sandE swurflgsilpeg surfissliu@eug

Which of the following is not correct in balance sheet 1s?
Gy GarésiiuPerareupmer @muublae Gisz QurmEsTss

A)
(B)
©)

Is a last stage in the preparation of accounts
samdg swrtlinie s Blewns o derg

It shows closing stock only

Gmnd sr&@ QELeu sTL(Hib

The two sides are assets and liabilities

Gerggsdr, QummUyser erer @(h UESHRISET 2 L uig)

Prepared before the preparation of trading account, profit and loss account
eflwmumyb wHmib @Tu Bt saéE@ swrilssmse ey suriésiiubhes

17 008/DM/24
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5b4. Balance Sheet shows
Gouyfloe @bluy e arisgag)

( Financial position (B) Gross Profit
Hidl Hlenevento @rgs eruLbd

(C) Gross loss (D) Net profit
Qurés BLLLb Hlay eruih

55. In a trading account opening stock Rs. 5,000/- Purchases Rs. 25,000/-, sales
Rs. 36,000/, closing stock Rs. 3,000/- gross profit is
@ elwrury samsdled GsT sés s16& @QUy @ 5,000/ Garerapsed ep. 25,000/
silpuenar ap. 36,000/- @mifl #16@ @@Ly 5. 3,000/ aafidr Quwrss eomub

9,000 (B) 5,000
(C) 20,000 (D) 10,000

56. In a trading account of Mr. Kumar, Opening stock is Rs. 57,000/- Purchases
Rs. 15,80,000/-, Purchases return Rs. 9,000/- sales Rs. 26,20,000/-, sales return
Rs. 6,000/- and closing stock Rs. 86,000/-, gross profit is
em ellurury samsdle Ggrir Fr&@ @@Uy . 57,000/~ Qsrarpsed . 15,80,000/-
Gereipged Fmuub m. 9,000/~ efpuemar . 26,20,000/- dlpuees Hmriud m. 6,000/
Gmd sré@ @iy 5. 86,000/- eraflée Qwrss @rub

MIO 72,000 (B) 10,74,300
10,00,000 (D) 25,00,000

57.  Which of the following is not correct?
&Cy Garhissiiul Herareudmer seuprarg g ?
(A) Balance sheet is a statement
Bouyfleow @iluy aaLg a6 ifisos
(B) Drawing must to deducted from capital
erRLILseT ppasansid BmEE sWGsILL Ceuen(h b
(C)  Current liabilities are recorded in the Balance sheet on liability side
BLUY Gurmoyser @@uyblaagdinds Gurpliyser usssdd eumbd
Vﬂ? Wage 1s an example of income
snddl ererLg eureilanddling T (RS SSTLLTGLD

008/DM/24 18



58.

59.

60.

Real Account can be classified into
Qengg samsE Garaumbmm euamsliLHSsLIUREDS

(A)” Two (B) Three
QDEIC) gpeny)

(C) Four (D) Five
LA 8hgl

For a trading account total Purchase is Rs. 2,00,000/- total sales is Rs. 2,50,000/-
percentage of profit 1s

em durury seréde GQorss Gerarwsed oy 2,00,000/- Quorgs ofbLeen
5. 2,50,000/- erefler qoru Fgeigh

A 10% (B) 20%
5% (D) 30%

A trading account for the year ended 31st March 2017 opening stock Rs. 15,000/-
Purchases Rs. 16,500/- sales Rs. 30,600/- closing stock Rs. 13,500/- gross profit is

31.03.2017¢ pgub @@y elwruny sewsfled Ggm s #rs@, @@ouy ep. 15,000/
Qararpged . 16,500/~ pueer . 30,600/- @mdl s76@ @QGLy ep. 13,500/ aafle

LDrrgr,g, ST

(A)  10,000/- 12,600/-

(€) 11,600/- (D) 11,400/-

19 008/DM/24
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‘ DEPARTMENTAL EXAMINATIONS 7
LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL
BOOK - KEEPING

(Without Books)

Maximum Time : 1 hour Maximum Marks : 40

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE |
diiflaurer elenL weflé@id auans efemmggmer

Read the following instructions carefully before beginning to answer the questions.
ellanésEna® e welés QsT kEh ey Spssam. oiflomyaser sawarnions UigSSeylb.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued. ' '

dersewer @A Hater, aarafismsse odeons aupdudmide, eflenL_ggraflenr @ midufed

o arem Sifls aanafisemsdarar eleLsar wHUSH QeiwriuL g,

2. In case of doubt, English version is the final,
slamsseiies s6CssfBLGea G rba ayele Qar@sssur_Hdrer clamssCar Sndwuneng.

Answer any EIGHT of the following questions.
aouGugd o’ { damssenés dacwef.

(8 x 5=40)
1. Classify the following items into personal, Real and Nominal Accounts.
(a) -Capital
(®)  Goodwill

(¢) Drawings
(d) Outstanding Salary
(¢) Cash
(! Rent
(g). Interest paid
{(h) Indian Bank
(1) Discount Received
(3) Building _
[Turn over



e

Geeugpld  @emhsamer ETENT  samd@, Cersg  sewdE, duwrerey SawsE 6@
e &L (D &SI, :

(<31
(=)
(@)
(FF)
(2)
(oer)
(1)
(a1}
(&)
(6@}

P

BHGlwr

eT{HiliLy

Qarhiue Geusigw FbLIETD
dyrésd

UL 608

ol Gegisdug
@ﬁﬂmdrmmﬁ

sila) QUHDS

&gl Lb

2. What is meant by cheque?

&nGFTaNe ETETDITED 6T6ET ?

‘ 3-. Write short notes on ‘Nil Balance’.

By @erenw (Nil .Balanc'e) GTETDTED GTEITET ?

4.  What is Endorsement?

Culopsise (Endorsement) erampméd creman?

- 5. The

Cash book of Mr. Santhana Kumar showed that he had an overdraft of

Rs. 16,000/- on 31st October 2017. On verification of the Cash Book and the Bank

Pass

(a)
- (b)
()

(d)
)

008/DM/24

Book the following points were noticed.

Cheques worth Rs. 2,400 paid into the Bank had not been collected till
31st October. :

Cheque worth Rs. 720 issued before 31st October had not been’ presented for

" payment.

Interest on Overdraft Rs. 210 charged by the Bank was not entered in the Cash
Book.

A bill receivable worth Rs. 1,000 discounted onr 1st September was dishonoured.

A customer had paid into the Bank directly Rs. 750 and this was not entered in
the cash book. :

Prepare a Bank reconciliation statement as on 31.10.2017.



B

FHGHER (GO Qorss G ¢5.16,000 curidl Guéeueny vpHlrlierd 31 H&CLTuf '

201760 T lqwig. QrréEs gleLwb, amdlsaGolaiyn gy Cprégn Gurg,
Qereu(pueaney Cgflwicibger.

(<1)

(<)

@)

()

(2)

amduleo Qeasdu  m.2.4008smer  s&rGamawe 31 SEGLIUT  euey
aU@onseldame.

Apss srGrrapasaics  o.720/- é{a‘s(ﬁ;ﬁuﬁ 31 euany LepSEMmE&S
erafaaiu@ssiuLalldame. :

awrdurd udley Geug Gudeumn Lpm Berer iy . 210/- QyTés GLigd
uFwiiuLefdeney. : -

Qels_tbuir 16 gem@Ly Qeig @p. 1,000 wduyerer dupgHEilu LDTI"I‘_I")Q]#. LAY
LGRTLD LMISSUILILL S, : | '

amgsmsurar akdlo Corywns QegisSug . 7506@ Qrrés eliyd LSl
@ d@ena. ‘

31.10.2017 pmend@ilu eukdl efls’ G uLLq_uJeiJ SWITHT QFiis.

Prepare Trial Balance as on 31.3.2017 from the following balances of
Ms. Yogalakshmi. '

Rs.
Stock (1.4.2016) 30,000
. Capital 2.,50,000
Furniture 33,000

Sundry creditors 75,000

Printing charges 1,500
Bank loan 1,20,000

- Freight 3,600
Machinery 3,20,500
Purchases ©2,95,000
Discount received | 1,000 -
Discount allowed 950
Sales : 3,35,350

Rent 72,500
Sundry expenses | 21,000
Carriage outwards 1,500

Insurance 1,200

3 ' | 008/DM/24
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Qe CSu_JrrasmL_&rLﬁl SjeuTrgariehr q@&aﬂ@ﬂ@mgj ThH&SSLILL L @@uqa&&@m&s Qa;rrm@
31.03.2017b prevenw @muumie| gurfiss :

b
gr&dmuy (1.4.2016) 30,000
e 2,50,000
S pEET 33,000
UL sLabGarT 75,000
oFeE QFaway : 1,500
eurdlé sLa - 1,20,000
855D | 3,500
Bupdrn 3,20,500
QareTpsa ' ' 2,95,000
QupD geT@rUg. "1,000
lofiss saT@pL ' 950
e huenen : 3,35,350
UTL & 7 2,500
Howep Caamaesdr 21,000
Qaual gpHlsGse Qsaay 1,500
SmSH 1,200
7. Write the differences between Trial Balance and Balance Sheet.

Bouuriey wpmb @wuy flees GHluy Qe Guwnear Geupurl el eT(gis.

8. When can a Bank Reconciliation be prepared?

auGung el sfls (i L iywd surfasiuhidog 2

9. What is Suspense Account? When is it opened?

 DIBTOSE|S HEWEHE, TN eTananm ? Bigl rlGUTEps) ngﬁ)gaﬁlésa;uu@ﬁmg?'

10.  What is Bills Receivable Book? .
QupishEfw mnﬁ)gu §.0 g (Bills Receivable Book) ghuy euenys.

008/DM/24 : 4



